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w2kA BC = 2DE = 2 x 7 = 14(cm) ©]t}.
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ThS 05837 ABC oA OD © 209 (2, A — %EB, G-
Go)
A
E
G
~8cm-"C D

@ 2cm @ 4cm ® 6cm @8cm ® 10cm

B

& 193 Zo] H2H& 19 AE =EF =FB, AG = GC
o|B& EG //FC °|t}.

~8cm-"C
ED//FC o|1, EF = FB o|2& BC = CD
- CD = 8cm




Edo] doj7t 24 A wfj, AC 9] Zo]E 15 ].oqa_

DE — “AC, BF — -BA, FD — ~CBo|t}
2 2 2
ADEF 9] &d|9] Zol=
DE+EF +FD = %(AC—|—BA+CB) = 240]|B2& AABC 9]

=99 dol=
AB + BC + CA = 480|t}. wHahA]
AC =48-18-16 = 14°]t}.




5. o 192 AD//BC QI Atthe]E ABCD oA HE @ F & 77}

AB
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9} DC 9] ZHo]1l, AD = 6cm, PQ = 3em € ©f, BC o] Zo|=?

@ 8cm @ 10cm @12cm @ 1l4cm ® 15cm

AE : AB =1:2°]22 EP = 3cm ©|t}. AABC o4 EQ =
6em, 6:x=1:20|B& x=6x2=12 o]t}
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7. o 1YY AABCOIA A D, E7FABQFAC 9 4L 0, x, y 9

27
® zx=30° y=b5cm @ /x=235° y="Tcm
® zx=40° y=Tem @Ax =40°, y = bcm

® /zx=45° y=Tcm

S5 ‘
AADE ¢} AABC ©f| A

AD:AB=AE:AC=1:2

(A 350|822 AADE o AABC O[T}

/x = /ADE = 40° |1 A D, E = 7z} o] ZHo|ng y =

1
Zx10=
2X 0=5

M)
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o -4 A M, N2 Z+2F AB, AC9] 54
DB, DC 9] S8 o, MQ 2] ZolE F3IA L.
A D
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~ —C
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> ®eh: 12

~MQ=PQ+MN=PN=7+7-2=12




9. & 194 CD ¢ Zol& Fotefet

BD//EG Q1 EG & 1°H
AE :AB=AG :AC

4 :12=AG : 12
AG=4,GF =3

AE :EG =AB :BC

4 :EG=12 : 10.8,EG =36
AFGE ¢ AFCD ©]|A]

EG :GF=DC :CF

36 : 3=DC : 5,DC=6




10. t} J99A AD = DE = EB, BF = FC °|t}. GC = 12cm ¥
o, EF 9] Zolz &2 A27

® 6cm @ 6.5cm ® 7cm

@ 7.5cm ®)8cm




11. o I%el4 A D, B, Fi 2171 BC, CA, AB o] $4oltt. Bh& %
84 e AL
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E
B i D ! C

® DF//AC @ DE = AF
®)DF = EF @ /AEF = /C
® AABC 0 ADEF

1—— __

5BC:BD




12. ©h& 719 aABC 4 AD = CD , BE = DE °I. aABE =
15cm? ¥ o, ABCD 2] {o|& F5fofzt.
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>
[> HEh. 30cm?

AABE = AAED = 15cm?2 ©]3 AABD = ABCD ©o|R =2
ABCD = 30 cm? ©]t}.




13. AABC 9 Ho]7}180ecm20]ZBD : DC=1:2,AE : ED=2: 3
A wff, AAEC 9] Ylo]& F-5tofzt.
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14. t©+& 1904 AD // MN //BC ¢l Altha]ZE ABCD oA & & M, N
2 Z}7F AB, CD 9] 54 4 o], BC 9] 4ol& a & AH&sto] YEr
H? (¢, MP:PN=1:2)
D
P N
\a/\ \
B C

@ 3a @461 ® 5a @ 6a ® Ta

B
2 QB = 2a °|t}.

AM:AB=1:20°]82
MP:PN=1:29°]22 PN = 2q,
AD =PN = QC o|2& QC = 2q ©|t}.
b BC =BQ + QC =2




15. oS 283 22 gABCD &= At

Hajolth AC = 8cm ,BD =
10cm ©]1, AB,BC, CD, DA o 32 ZZtE, F, G, H =t
o, oEFGH 9] 9] Zdo]=?

@ 16cm @186111 ® 20cm @ 22cm ® 24cm
— 1— 1
— 1— 1
.. (DEFGHS] €8] 4°]) =EF+FG+GH+HE =4+5+
44 5=18(cm)




16.
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AEGA = AEFC(ASARHS)

.'.ﬁzmzéﬁ:%x8:4(cm)
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C,CA,AB 9] Z#o|t}. AABC Q] Ege
1017} 36 cm ¥ ©), ADEF ¢] 2] 4
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@ 16cm @18cm ® 20cm @ 22cm

o
Q

FE— %E,ﬁ: %A_C,ﬁ: %E olma
(ADEF 9] &2)¢] o)

_ %(AABCPJ Ed9] Zo)

1
= §><36:18(cm)




18. ©& 1¥old A D, E, F = 242 BC, CA, AB °] S3°|th. ADEF
o] 'ol7t 3em® € W, AABC 9] HolE?

A
E
B D C
D) 12cm? @ 13cm? ® 1l4cm?
@ 15cm? ® 16cm?

AAFE = ABDF = ADCE = AFED (SSS &%) °]E2 AABC
o] Wol=
4 x ADEF = 4 x 3 = 12(cm?) ©]t}.




19. oS 199 AthE]E ABCD oA AB, DC o 3ol ZZt M, N
0|7 AD+BC=36,MP:PQ="7:4< o, x2] 327

@ 11 @ 12 ® 13 ®)14 ® 15

B ~

AD =x,BC =36-x 2} 5t4

— 1= 1 — 11— 1
MP:MQ="7:110|2&

1 1

§x§(36—x)—711

L x=14




20. AL AT BEE e 00 2t o

o] 7ke?

@ 30cm @ 32cm ® 34cm @36cm ® 38cm

%(68 +x) =52 ©]|E& x = 36 o[t}




21. o ™I g2

2 AABC oA I D = AB 9] $3o]a, A E,F
AC E 41583H= #olth. A P 7FBF, CD ©] o] ¥, DE =4
o off, BP 9] do]=?
A
E
D‘
B C

@ 5em @ )}6cm ® 7cm @ 8cm ® 9cm
AABF o4 BF = 2DE = 2 x4 = 8 (cm)
ACDE °4 DE = 2PF .. PF = 2(cm) .. BP = BF - PF =

8 -2 =6(cm) °]t}.




